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Topic:- Physics

1) 1 kilogram force is equal to . /1 e Ia & Wﬁ?ﬂ%l
1.1IN

2.98N

3.19.6 N

4. 49N

Correct Answer :-

e 98N

2) Which of the following can become negative? / o & | 19 91 BT 99 THdT 32
1. Binding energy / S S|

2. Kinetic energy / TIfast St

3. Potential energy and kinetic energy / fufost Sarf ik nfas St

4. Work done and potential energy / foran o Bt iR fRufest St

Correct Answer :-

« Work done and potential energy / a1 71T T4 3R fufas Soi

3) The minimum energy required to break a covalent bond in Germanium is . TR | Th

TEAaISh SraY P dieq & T smawge grau et R
1.0.52 eV
2.0.62 eV
3.0.72 eV

4. 1.1eV

Correct Answer :-

e 0.72eV



4) 10.48 g of a substance occupies 2.4 cm?. Then its density keeping significant figure in view

is . T ST BT 10.48 UTH, 2.4 JUL W Aq1 3| A 1l il 1 o # Wad §U 0BT
g9 gl

1.44 g/cm3 / 4.4 a3

2. 4.763 g/em? / 4.763 ATH/AH3
3.4.76 g/cm3 / 4.76 /A3
4.4.376 g/em? / 4.376 JTH/AH3

Correct Answer :-

e 4.4 g/em? / 4.4 TTHRAR3

5) Acceleration of a body is zero when ./ U fPTY &1 arv1 Y giaT 8
EC) |

1. velocity of a body is zero / ferg @1 9 R gran %

2. a body covers equal distances in equal intervals of time / T THg & SRIER SfaRTdl H aRI6R §|?€le U;\’Df
FIAT B

3. a body covers equal displacements in equal interval of time / fTTT THY & SRTER ATl H IR fa=ITOH

R HAT g

4. a body has uniform speed / Tg 3l UhTHTH W@T‘ﬁ %

Correct Answer :-

« a body covers equal displacements in equal interval of time / T THT & IRTER favTal H sRTeR oo

RN HAT G

6) What is the frequency of wave with time period 0.025 s? / HHY 3rafe 0.025 GHS H a7 P Gﬂﬂﬁl
T 3?

1. 4Hz /4 B
2. 40 Hz / 40 B
3. 25 Hz / 25 BCW

4. 250 Hz / 250 B9l

Correct Answer :-

« 40 Hz/40 B<H

7) In a series LCR circuit, with “ = 1000/s & C = 10‘“F, the current is maximum when L

is m.%lmmqﬁqﬂmﬁwaﬂﬁﬁ,ﬁmﬁm=1000/5@C=10“F%,HR13?=|H11@??[%WL
|




1. 0.1mH
2. IlmH
3. 100mH

4. 1000mH

Correct Answer :-

8) What type of energy transformation takes place in a loud speaker? / T sl § fpyg g bl
Sl gfvad= giar 82

1. Electric energy into sound energy / ﬁgﬂﬁ ol o1 @y SHoif &
2. Chemical energy into sound / TTafE Sl b1 et |

3. Sound energy into electric energy / tafy Soll 1 ﬁ@qﬁ ol H
4. Mechanical energy to sound / TifA® il &1 @i SHort H

Correct Answer :-

 Electric energy into sound energy/ﬁgq?[ Sl o1 @y Sorl A

9) A source of sound having frequency 500 Hz and the listener are moving with the same speed of 10
km/hr in the same direction. The ratio of the actual frequency of the source to the frequency as heard

by the listener is ./ At~ BT |, oIt 3mgfRy 500 g9 8 SR o, wa fa=m o 10 fapedl/
ﬁ%ﬁgmmwﬁw@%@aaﬂm%mﬁrmm,aﬂm%wﬁ:ﬁné&mﬁ
R

1.1:2
2. 2:1
3. 1:1

4. 1:5

Correct Answer :-

10) A 6V battery is connected across a resistance R. The current through R is 0.4 mA. What will be
the value of R? / T 6 V I 931 UfeRIY R | HaTUd 81 R & HTSAH A YRT 0.4 mA g1 R BT HH
T gH?

1. 10 kQ
2. 15kQ

3.20 kQ



4. 25 kQ

Correct Answer :-

11) If a mirror is unable to focus all the rays from an object at the principal focus, then it is

called ./ af& T quur, Ue avg & i forvul g1 wied W Sisd H ¥ el
FAIZ AT FEAE

1. spherical aberration / e fage

2. chromatic aberration / 0 A=
3. parallax/aﬁw

4. optical illusion / EfeyH

Correct Answer :-

e spherical aberration / e fauya

12)
The equivalent capacitance of the circuit is _/afee &1 de AT BIEGI el
[
| "100 pF
| ||
I i | |
200pF 200 pF
|
| I
100 pF
1. 200/3 pF
2. 200pF
3. 300pF
4. 400pF

Correct Answer :-

« 200/3 pF

13) When an object is at a distance x and y from the optic center of a convex lens, real and virtual
images are formed, respectively, with the same magnification. The focal length of the lens is

. | 99 TP O], TP Iad A P AP F= A x 3 y g8 W= gl 8 ot sva=n: aRafds ik
muRT afafds &1 fAmtor, Tue smad= & 9y giar 81 o9 &) wiew gi gl



1. X-Y
2. X+Y/2
3. X-Y/2

4. X+Y

Correct Answer :-

« X+Y/2

14) In a nuclear reactor, the chain reaction will stop if: / Th EIREIp ﬂ'ﬁm ﬁ, %j@ﬁlﬁ yfaferar
$P ST afe:

1. Control rods are fully inserted into the core of the reactor. /
Ruaex & SR & 801 e T ave I Hafka » §f Sl

2. Half-length of control rods are inserted into core of the reactor. / ?QGEQ & HR H 701 IS Bt 31?5{'—
TS FafRd #R & Sl

3. Control rods are completely removed from the core of the reactor. / RU&eR & SR ¥ f=01 ﬁ@"{\ﬁ e
BAREIRKARSIY

4. Withdraw the control rods a little more from the core of the reactor. / ?Q(’E? & PR Y FEAuAs Y é
3{fYp frepTell Sy

Correct Answer :-

« Control rods are fully inserted into the core of the reactor. /

Rudex & SR # =01 s gt @Rg & Faf & < Sl

15) If E represents peak value of the voltage in an AC circuit, the RMS value of voltage is . /ﬂ'ﬁ

E, T uf¥uy & giee & Siftredd AT & WelRid a7 8 af dieesl &1 IIRTATI AT &I
1. E/n
2. ENn
3.E2
4. EN2

Correct Answer :-

« EA2

16) When a coil moves towards a stationary magnet, the induced emf does not depend on: / STd Udh

Pedl, R gae 3 3R Ted! g, af IANT 5.00.0% 39 W AR 781 war:

1. Speed with which the coil or magnet is moving / dTd], forg W Cj}Sﬂnl SYJT g Il LGl %I




2. Number of turns in the coil /_giﬁt_'ﬁ | EFITEﬁ D GEAT
3. Strength of the magnet / IS b1 &H|
4. Resistance of the coil / P BT iRy |

Correct Answer :-

« Resistance of the coil / D BT gfeRiY |

17) Which instrument is used to determine the density of a liquid? / T gd P v ot fFuffiya 3
& fore S 1 IUSHUT UG BT 82

1. Lactometer/m
2. Hydrometer/EE@jﬂ?T
3. Barometer / éq Hex

4. Hygrometer / Els‘j Hex

Correct Answer :-

e Hydrometer /@ sélﬂlaz

18) A person needs a lens of power +4.5 for correction of her vision. The defect in the vision and

nature of corrective lens would be: / T Sfad Bt 3=t TP & gUur & 1T +4.5 &raT & A9 Bt
TaRAHdT 31 =D ¥ qv 9 GUR® a9 &t upfa i

1. Myopia, convex lens / fAdcefe, I A

2. Hypermetropia, concave lens / m, 3add o
3. Myopia, bifocal lens / ﬁm, femim o

4. Hypermetropia, convex lens / didefte, I oy

Correct Answer :-

» Hypermetropia, convex lens / Eﬁ'ﬁ?@, Id

19) If the force on a moving body is always uniform and perpendicular to its motion, then: /?T% Udh

Tfera e W 94, IT@ i & 0 THIHTE 9 99 giaT 8, i
1. Speed and direction of the body will change / g ot =1 iR fa=m Uﬁﬁﬁﬁﬁﬁﬁ"ﬁl
2. Only speed will change /quﬁaﬁﬁml

3. Speed remains the same, but direction changes / dlcl HHI iSdﬁI %, uég EQII dad STl %

4. Velocity of the body does not change / Fea &1 aTL ufRafda EH Eﬁ?ﬂ %I

Correct Answer :-

» Speed remains the same, but direction changes / 9Tl SHIT g %, tRﬂ R e STt %



20) Three equal capacitors when connected in series provide 1uF capacitance. When in
parallel, they provide a capacitance of ./ &9 U "Rl 3 oie ue Aot | ST T
at 1pF oTiar uT g5 1 afe 3% Wi ST oie, df UTed g1 aret emfar il

1. 1/3uF
2. 3uF
3. 6uF

4.9 pF

Correct Answer :-

21) The viscous force between the layers of a liquid does NOT depend on which of the following? /

TRA B Wl & §ra T 9a A E 9 fra w® R 98 swane
1. Contact area of the layers / TRl & U &5

2. Nature of the liquid / TRd &1 Fepfd

3. Velocity gradient / 7-9JUTd

4. Density of the liquid / cXcl & g9

Correct Answer :-

» Density of the liquid / dXcl & g9

22) The minimum temperature to which a fuel must be heated so that it catches fire and starts to

burn is called its . /mmmﬁwﬁﬁmwmﬁwﬁ ST
WA 3R 98 ST IO IR &, a8 HEATdT 2

1. melting point / TP
2. boiling point / BUTH
3. ignition point / TSI

4. freezing point / %IIW

Correct Answer :-

« ignition point / USacIPp

23) The safest technique of radioactive wastes disposal is to ./ ¥fsarafey smufdre
e 9 9ad Rt aeie 3|

1. bury them deep underground in less populated areas / 3% HH SNE aTd & | ‘jﬁ[ ik 6€|g W adl
C&ll




2. bury them under the Antarctic ice / 35 ferhfes o § & - gar &
3. release them under water in the deep sea / 3% W JHx TV & A B IS
4. take them up in space and release them from there /G% 31??\"&‘[ o QST G?R a%ﬁ €§|3 T

Correct Answer :-

e bury them deep underground in less populated areas / 38 HH SN dTd & | 31[&[ K 6€|é W adl
C&l

24) Which one of the following statements is INCORRECT regarding Van de Graff generator?
/ “qM § U6 e & v & S |1 HYF Tad 82

1. Can produce up to million volts / G¥ TG dlec TP BT IAIG DR Febvdll gl

2. Can accelerate particles like protons / Tel-l ORI HUN & AR B Tl g

3. Can be used to study structure of matter / TUGT% @1 TG BT I B & 11T YA [T S Aol

gl
4. Cannot be constructed inside a building / T% SARA & 3fex FAfHd g fopar o T

Correct Answer :-

« Cannot be constructed inside a building / T% SARA & 3iex FAfHd & fopar o T

25) Two point charges which are 10 cm apart repel each other with a force of 18N. If the sum of the

charges is 9"C, the charges are K| &ﬁﬁﬁﬁgﬁﬁ 10@:&3&@11“%; Wﬁﬂ?{ﬁ 18N &
99 & 1Y Ufasiia g1d &1 afe Smasil &1 a1 9 ©, 99 e gl

1. 5H¢, -4c
2. -5HC, -4HC
3. sMc,4¥c

4. -5tC, 4#c

Correct Answer :-

26) Two thin lenses are in contact and the focal length of the combination is 80 cm. If f; = 20cm, what

will be the power of the other 1ens?/avaﬁé’vmﬁ%'sﬁ?wﬁﬁmmmsoﬁtﬁ
21 3¢ £, = 20 A B, I TP =7 A B &rHaT T A2

1.-3.75D
2.3.75D

3.-(3/80) D



4. (3/80) D

Correct Answer :-

e -3.75D

27) chicken is able to see only bright light. The cells present in its retina

are . | TP T T AT baet ol AT W U1 3| IWP! efeuyea (e # IufRua
PHIRETE .l

1. few rods and mostly cones / & TCTHII T Grf%rmz@

2. few cones and mostly rods / & [P d SINCANIGICAIY

3. only rods / $Had AATHTY

4. only cones /WW

Correct Answer :-

« few rods and mostly cones / P& AP T NIDEAN TP

28) The magnetic flux threading a coil changes from 15x 103 Weber to 12x103 Weber in 0.01 s.
Then the induced EMF is . | TP HSdl AU P19 YaTg, 0.01 FHs H 15 x 103 dR I
12 x 103 3R # yRafda g wiar 21 ot 4Ra Sunuw gl

1.0.03V
2.3V
3.0.3V

4. 30V

Correct Answer :-
e 0.3V

29) The velocity of a body is increased by 4 times. Then its kinetic energy is increasedby

U e e v, IR T R feararar g A st afasr et ® q@s’r\—mﬂ%l

1. 16 times / 16 T[T

2. 4times / 4 T[T

3. 1/16 times / 1/16 T[T
4. 1/4 times/ 1 /47l
Correct Answer :-

« 16 times / 16 7T



30) When a cricket ball is thrown vertically up, the force of gravity acting on it .
| 19 U@ fhdre 31 g &) aaad SHUR P 3R IBTAT 16T 8, d 39 W a1 811 a1dT [ yur 5
|

1. is opposite to the direction of motion of the ball /e & fd @t fgzm & ﬁﬂﬁﬂ?ﬁ?ﬂ %
2. is in the same direction of motion of the ball / ﬁ_c(' & Tfd B ﬁ?ﬂ ﬁ“&ﬁ?ﬂ %

3. becomes zero at the maximum height / 3= dH VW'I%WQ]?JEPIHT %

4. increases as it rises up / S-Sy g SR BT 3R ST %, dedl SITdl %

Correct Answer :-

* is opposite to the direction of motion of the ball /TG & TIfd B fa=m %ﬁﬂﬂﬂ%ﬁ?ﬂ %

31) The distance between two consecutive crests of a transverse wave is 10 cm. If 5 waves pass

through a point in 2 seconds, then the velocity of the wave is . / T IR a3 X |

HHNTT 29T & o 3t gt 10 A 31 e T g o 5 a3, 2 AHhvs W Tord! &, af a1 T a7
g

1. 50 m/s / 50 HI/A

2.0.25 m/s / 0.25 HI/ A
3. 100 m/s / 100 /A

4. 10 m/s / 10 A

Correct Answer :-

e 0.25m/s/0.25 5™

32) Though sounds of musical instruments of veena and flute have same loudness and pitch, yet they are

distinguishable by the ./ gy arera=t diom iR SIS #) srare § A yaddr iR
fra gt 8, fpe oft & gar faver g &

1. quality or timbre of sound waves / eafy aum &1 0Tar ar FH-EY
2. frequency of sound / gt P @m

3. amplitude of sound / g &1 MY

4. intensity of sound / gl &t dtadm

Correct Answer :-

» quality or timbre of sound waves / eaf aam &1 uTar ar FH-TEY

33) A bus travelling at a speed of 54 km/h speeds up to 72 km/h in 5 seconds. Calculate the acceleration

of the bus. / 54 forHl/gieT Ft IR A T aTell TH 99 5 Gbs # 72 fpardie/ae a@ ot IR



FeTdl 81 I & RUT P IUET B9 |
1.18 m/s2 / 18 HI/H?

2. 1m/s2/ 1 HIA2

3.15m/s2/ 15 B2

4.20m/ 2/ 20 H/&?

Correct Answer :-

. 1m/sz/11ﬁ/@f2

34) Power factor in an ac circuit is given by: / U Eﬁ ufvuy § wfe Mol ('q\'lla?' m A&
ERT Ue 5T 5iTar &:

1. Z/R
2.R/Z

3. RX|.

4. RX(

Correct Answer :-
e R/Z

35) What will be the distance at which a linear object must be placed from a concave mirror having a
focal length of 0.8 m to obtain an image four times as long as the object? / TP TGP qyd, 0.8 |
BIGAIHIN aTet 3aad gUuT & fora= gt W ¥l o=t Tnfe, Forast avg & 9 11 & a1
gfafaws g gt

1.0.6m/ 0.6 9
2.0.7m/0.7 4
3.0.8m/0.8
4,09m/ 094
Correct Answer :-
« 0.6m/0.6Ht

36) If someone jumps to the shore from the boat, the boat moves in the opposite direction. This is due

to ./vﬁgﬁémﬁmwm%ﬂmﬁuﬂaﬁmaﬁaﬁ?aﬁm%m
BRI |

1. Newton'’s First law of motion / <gC &I Tfd &1 gug Ay
2. Newton'’s Second law of motion / =gc &I T &1 fgata g



3. Newton’s Third law of motion / <gC &I T &1 ‘q’?ﬂﬁﬁﬂﬁ

4. The fact that the net force acting on the boat is to be zero / 19 UX T[] g fﬂﬁﬁaﬁm YA gl

Correct Answer :-

« Newton’s Third law of motion / <g&-1 &1 TTfd &1 eitg ™

37) The temperature of a hydrogen gas in a vessel is increased by 10° C. The corresponding rise in
temperature of the gas on Kelvin scale is WAC A ER: | BE@T:F-I 9 FT A9 10° C TH del
& sirar 81 pfeas Tu W A9 & arguE § sgEu afs gl

1. 373K
2.263K
3.10K

4.363 K

Correct Answer :-

e 10K
38) The velocity of an object at any given instant of time is called . /ﬁ'Q e foht
ATepTi® 999 R fhedl avg & a1 3t $gl 1T 3|

1. variable velocity/ﬂTa‘T

2. instantaneous velocity / GG AN
3. uniform velocity/waﬂ

4. average velocity / 3G AT

Correct Answer :-
 instantaneous velocity / GIGAINCCE

39) The kinetic energy of a body is increased 3 times. The increase in momentum is ./ TP

feudtafaul, sTaadigIdand . gfgarerdt gl
1. 9 times / 9 T[T

2. 3 times / 3 TFT

3. 1.414 times / 1.414 TFT

4. 1.732 times / 1.732 [T

Correct Answer :-

e 1.732 times / 1.732 [l



40) An LED is a photodiode which is ./ TS ST, U ICISIUIS gidl 8, \ife
Geid

1. lightly doped and under forward bias / bl SIfta aur 3w SifAfa & siarfa
2. heavily doped and under forward bias / R SIfd T 31 ifiAfa & i
3. heavily doped and under reverse bias / U Sifta aur u=a HfyAfa & siarfa
4. lightly doped and under reverse bias / el SIfta aur g fAfa & Sl

Correct Answer :-

 heavily doped and under forward bias / T Siftrd qur 31 fiAfa & Sfaefa

41) A projectile is fired at an angle of 60° to the horizontal with a velocity of 20 m/s. The

maximum height attained by the projectile is .(g= 10m/s?) / T W&, Qfest & 60° &
PI0T YR 20 Hiey A s F A A BIST 911 8 | Y& gRT UT SHf¥pad Hars Bl (g=10Ffte¥/
qHs2)

1. 30m / 30 HicX
2.20m / 20 HieR
3. 10m / 10 Hie?
4. 15m/ 15 Hiex

Correct Answer :-

e 15m/ 15 "R

42) At night, air blows from the colder land to warmer sea is known as ./ Wﬁ,?ﬂﬁw
yftr 9§ f s Y SR 9@ Fearr gl

1. air breeze / TATHHR

2. sea breeze / g% YUR

3. land breeze / {&fﬂfﬂ?

4. none of the above /Wﬁﬁ?ﬁ%ﬂ%‘r

Correct Answer :-

o land breeze / YW THR

43) Electric power is transmitted from power station to the city at ./

vif, Agga ds A e o R "I B ST |1

1. high voltage, low current / 3= dieedl, 9 4RI

2. low voltage, high current / 9 dieear, 3@ YR



3. low voltage, low current / % dfeedr, 9 4T

4. high voltage, high current / 3= dieedl, 3 URI

Correct Answer :-

« high voltage, low current / 3= dieedT, 7 4RT

44) Two heater wires of equal length are first connected in series and then in parallel. The ratio of

heat produced in the two cases is /Wﬁ?ﬂi%a’riﬁaaﬁraﬁwﬁ, Q'Uﬂﬁ\_rl-']?ﬂ\_rl'l_cﬂ
2 3R fipr JuHiaR & SivsT wrar g1 a1 fRufeal o Iaurfed oAt &1 Srgurd gl

1.1:2
2.2:1
3.1:4

4. 4:1

Correct Answer :-

45) Which of the following has the same dimensions as force x velocity? / o 9 foead smamw , e

x O & T 51 82

1. Energy / Sl

2. Linear momentum / XA T
3. Power / Qe

4. Impulse / ST

Correct Answer :-

« Power / Qfad

46) In full wave rectifier operating at 50 Hz, the fundamental frequency of ripples would be

/ 50 BT UR Fenferd gul v Ryt A, Sffeei Stqaemgfa . gl
1. 100 Hz / 100 ¢S

2.75Hz /758

3.50 Hz / 50 §¢w

4,25 Hz /258

Correct Answer :-

« 100 Hz /100 8



47) When a stone is dropped in to a pond, the ripples formed on the surface of water are
./ TS U URIR B! T qTeTd § STAT A4 8, Ot 5 3t Jag W g1 SHHD1Y

B i §

1. transverse waves / 3FIUY A

2. longitudinal waves / 3eef T

3. non-elastic waves / 3T T

4. both transverse waves and longitudinal waves / 3R X 3R 3@ il gl

Correct Answer :-

« transverse waves / 3{IUR qH|

48) The de Broglie wavelength of an tx—particle accelerated through a potential difference ‘V’

is : ./ fayTaiaR «v» & a1egm A @fvd fRd T8 v L1 Y S siirett avreed
|

.
1. (0.202/YV)°A
.
2. (0.101/¥V )°A
3. (12.27VV °A
.
4. (1.227/¥V)°A
Correct Answer :-

o (0.101/¥V)°A

49) What is the SI unit of intensity of gravitational field? / W‘S&W & @t ftaar ot s1 smé Cu)
??

1. W/m?

2. I/m?

3. N /kg

4.Nm2

Correct Answer :-

» N/kg

50) A diverging lens has a focal length of 4 cm. Its power is ./ T TR AT BT

BreHdIeIo 4 ft 1 SHPT &HaT B

1.+25D



2.-25D
3.-0.25D

4.+0.25D

Correct Answer :-

o -25D

Topic:- Chemistry

1) In an experiment, concentrated sulphuric acid was added to a test tube containing sodium chloride and
the mixture was heated. A moist litmus paper was brought to the mouth of the test tube. What colour will

be seen ontheﬁlterpaper?/wmﬁ,mmmﬁmmmﬁéﬁm
® gTar AT 3R firyor st i frar WAt | v T freu-ua #) 3% oge & 47 W A |
fiFee’ TR W &9 91 71 fa@wm?

1. Blue / tall
2. Green /8l

3. Red / dIdd
4. Yellow / TTdl

Correct Answer :-

e Red/dld

2) The freezing point of equimolal solution will be highest for ./ gHHTad faea_ &1

feuie, = FHfaus=awasmm
1. CgHsNH3*CI

2. Ca( NO3),

3. La( NO3),

4. CgH1,06

Correct Answer :-



Me
Me—C=C—CH=CH:

Consider the compound: Me
If this compoundis subjected to ozonolvsis followed by reaction with Zn/ H.Q, what would be the

products formed?/
Me
Me—C=C—CH=CH:

=g ZifEe W AR +1: Me

Ife I e NSATART & d6d & 3N 58 dg SHhl Zn/ H;0 & T rfafear wmr
AT &, O T 3TUKE FeE

1. CH;—CHO, CH;—CO—CHO, HCHO
2. CH;—CHO, CH;—CO—CH3, CH,0
3. (CH3),CO, CH;CO—CHO, CH,0

4. (CH;),CO, CH3CO—CH=CH,

Correct Answer :-

« (CH;),CO, CH;CO—CHO, CH,0

4) Electromagnetic radiations are emitted . ﬁgqa-gaaﬁ'q fafezor
Sfofd gieft g1

1. only by bodies at higher temperatures than their surroundings / PHad U IR I Y] o (U8l
GRT

2. only by bodies at lower temperatures than their surroundings / Pad U+ gAY ¥ Y argaH! & fUsSt
EIR

3. only by television and radio antennae / Fad caitfaer 3R IS G gRT
4. by all bodies / T4} fisf grR

Correct Answer :-

« by all bodies / T} fUEl gRT

5) A mixture of two miscible liquids having different boiling points can be separated by ./

fafira wyAe! ara &f frsiofra awei &1 g, & GRT YYTPHd fpaT o1 gl 3|
1. filtration / At
2. sublimation / S¢AUTa

3. evaporation / dT&



4, distillation / ATHd

Correct Answer :-

e distillation / ATHd

6) Identify the green coloured solid substance that undergoes decomposition to give a brown coloured
solid along with the evolution of oxides of sulphur. /TP B yerd &1 UE?IT&I'&, S 3rUge g1
YR T BT 319 &7 ¢ 9 I 8 T & RSS! PT fIe1 giar 21

1. Copper sulphate | IR Jehe

2. Ferrous sulphate /?‘ﬁ_s'ﬂ?eb_c'

3. Magnesium sulphate / T gdbe
4. Ferric sulphate | ik gethe

Correct Answer :-

« Ferrous sulphate / g TetbT
7) Particles of a suspension settle down because of: / FIeie & o1 A= ST 33[ KIG] %', Fqife:

1. Strong molecular interaction between dispersed phase and dispersion medium. / UIRI&T e ud

UfREToT A1eqd & g Jolgd SA1gdh Sarafehar gia ¢ |
2. Smaller size of particles in dispersed phase. / URIETT TTaT & U T BTl ATHR il %l

3. Weak molecular interaction between dispersed phase and dispersion medium. / gffared grawi ud

GRAYU H1HH & o HHGR SAT0aHh == ar gidl g

4, BothAandB/AQa;Ba-l:i.

Correct Answer :-

» Weak molecular interaction between dispersed phase and dispersion medium. / URI& gra ud

gAY A1EH & dg HHGIR g ==afhar gidl g

8) Which one of the following acids forms an acid salt? / frafafead a CaC kIl 3T, Uh 3+ <dul
&1 frtor wvar 32

1. HCI

2. H,50,

3. HF

4. VHI

Correct Answer :-

L4 H2504



9) Identify the products formed if the below mentioned reactions are carried out.
i. Boron trifluoride reacted with sodium hydride.

ii. Alg) with aqueous NaOH. /
gfe - faredt sifferan g wig, & ffda g1 ara Saurel & ugas +¥)
i. TRV CIRURIRTS S A AISUH gIegIsS & ATy fUfepar & |

ii. Al = ST N,OH & 1Y ffUfepar #

1.i.Fy ii. O,
2.i. Hy ii. O3
3.i. Fy ii. Hy0
4.i. ByHg ii. Hy

Correct Answer :-

e i.ByHg ii. Hy

10) Calcium phosphate is present in tooth enamel. Its nature is . /E;"iT‘T CARTE| |
SIRTH Bihe SUFRIT BT 81 TP Upfa Bt B

1. acidic / 3R

2. basic / &RIT
3. neutral / 3& g+
4. amphoteric / IyTeHf

Correct Answer :-

« basic / &RIT

11) Which one of the following will cause intense ionization? / a9 fea Udh & BRI A
ST M2

1. Gama rays / TTHI fopof
2. Alpha rays / 3{cth] foul
3. Beta rays / dftet foprof

4. Protons / U1

Correct Answer :-

o Alpha rays / 3cth] IEZUI

12) Separation of two substances by fractional distillation is based on the difference in ./

SHTTRIP ARTTH & GIRT §F UGTAT BT JUFHI, # 3faR wR 3meurfd 31



1. volatility / ITSIRITErdT
2. crystalline nature / foheaia m
3. density / Y]

4. boiling points / BYTH

Correct Answer :-
« boiling points / HYTTDH

13) Washing soda can be prepared from baking soda through the following steps: / W Ca| '\‘ﬁ?ﬂ,

A AreT A o Wi gRT AR fHar o e @
1. Heating, recrystallisation in water / dTU-, Wﬁtff fopeaH
2. Heating, recrystallisation in alcohol / dTU, Wﬁﬁﬁqﬂ fopeeam

3. Addition of CO,, heating / CO, &1 A, AT

4. Crystallisation, addition of CO, / foh Tt T, Co, dI T

Correct Answer :-

e Heating, recrystallisation in water / dTU, \_riaﬁg:f fopTeaq

14) What would happen to the entropy inside a normal egg when it is hard boiled? / b HTHTI 3S

& Hiax Terdt &1 Fa1 8147 & 919 S SrS1 dvE | IITAT 1T 82

1. Entropy inside the egg decreases. / 38 & HiaR Q?jd}f FY gl STt %l

2. Entropy remains the same as in a normal egg. /Q?j‘d)f M 38 & A 8! %I
3. Entropy inside the egg increases. / NI lﬁ?ﬂq;fll'cﬁ aa\_rﬂ(_‘ﬁ gl

4. Entropy becomes equal to zero. / Q?jﬁ)f A & SR g1 STl %I

Correct Answer :-

» Entropy inside the egg increases. / 33 &F HiaR Q?Avd EI_CEGI'lT‘ﬁ %l

15) Which one of the following forms micelles in aqueous solution above critical micelle

concentration? / fg # T P19 gHiemere faa g & SwR weiy faaga # ke samar g2
1. Dodecyl trimethyl ammonium chloride / Eﬁ%@lﬂ@%ﬁﬁlﬂ Ty E@TIE?I
2. Glucose / &

3. Urea /qﬁm
4. Pyridinium chloride / fTURSITH s@RzS

Correct Answer :-

« Dodecy! trimethyl ammonium chloride / SISRTA STSHIT AT TR S



16) In the atom of an element, 7 electrons are present in the outermost shell. If it attains noble gas
configuration by accepting requisite number of electrons then what would be the charge on the ion

formed? / U dcd & UTHTY] & STEITH B H, 7 T SUTRA 21 af a8 ) I smawas®
TR PR P Ipte A fa=aryg urw war 8, a9 Hfifa 917 9t ema= wR &ar smazr g

1. -1
2.-2
3. +1

4, +2

Correct Answer :-

17) Given that the density of CCl, is 1.5gm /cc, what would be the volume of CCl, which contains 2 x
1025 atoms of chlorine? / f&@T 4T § {6 cC1, @1 w9, 1.5 mwA B, @Y cC1, BT 3 &
g, Forad & & 2 x 1025 TRUTY[ Bl 82

1. 3407 cc
2.851.75 cc
3. 13628 cc

4. 860.8 cc

Correct Answer :-

e 851.75cc

18) Tail of comet is visible due to: / v{ﬂ% 4| 1159' 3'\‘:@? PRI ﬁ'@'é‘ ot %:
1. Coagulation / Th G-

2. Tyndall effect / fCUSH UHTT

3. Peptisation / amsﬁm:[

4. Brownian movement / SIS Tfd

Correct Answer :-
« Tyndall effect / fCUSd UUTG

19) How many protons, electrons and neutrons are presentin 17 ? / 17 A fra L'ﬁfﬁ, Eﬁﬂfﬁ
3R el IufRY 32

1.17, 17,20

2.20, 17,17



3. 17,20, 17

4.17, 17, 37

Correct Answer :-

e 17,17, 20
20) Copper glance (Cu,S) can be converted into cuprous oxide by the process of WAGIE]
AT (Cu,S), FIUE ATRITSS | uferar g1 ufvafda far s awar 21

1. calcination / T

2. hydrogenation /EE@W
3. roasting / ol

4. dehydration REERICZU

Correct Answer :-

e roasting / ol

21) If energy is given out or absorbed during the preparation of a substance, it will be .

gfe uerd & fomior & gRm=, SHatt < st 3 ar srasniya gidl 3, a1 a8 Huil
1. a mixture only / WW forsror
2. a compound onIy/WWtﬁﬁﬁ?

3. a molecule only / Fad U 3]
4. all of the above / B'Clg?ﬁ ot

Correct Answer :-

« all of the above / G'Cl?j?ﬁ ot

22) Which one of the characteristics of the transition metals is associated with higher catalytic

activity? / THHUT U3l o1 faRwarsi & & #17 H vep, I IR nfafafy @ Jefia 82
1. High enthalpy of atomization / Ul D1 I T

2. Paramagnetic behavior / &W delR
3. Color of hydrate ions / BTE'%E’ TTAT BT T

4. Variable oxidation states / TR JTGHTDHRUT SARITY

Correct Answer :-

« Variable oxidation states / TR 3{TaITHIUT SWITQ



Charge clouds of an atom illustrate the motion of . / ¥h URHTY] & TR dTGd (ATSt
HIT3S) Tfa @ TSI Hd B

1. electrons /3@3@’:[
2. protons / giciH

3. neutrons / q@’ﬂ
4. positrons / ﬁﬁ‘@’ﬁ

Correct Answer :-

« clectrons /3@3@’:{

24) A sample of water boils at 104°C at normal temperature and pressure. Its freezing point will
be ./WWWWWW@WWIM“CWW%IMW

fog__ &m

1.at 0°C / 0°C IR

2. below 0°C / 0°C & HH
3. above 0°C / 0°C ¥ 3ff¥h

4. either at 0°C or above 0°C / T dl 0°C T {63 0°C T 3ffeh

Correct Answer :-

« below 0°C / 0°C ¥ &H

25) [f the root mean square velocity of Cl, molecules at 12°C and at 78 cm pressure is 316.52 m/s,

what would be its average velocity under the same conditions? / gfe 12°C arvH= 3N 78 At ald W

Cl, 33T} &1 Tt Aren ga A 316.52 HA B, 9 guT aifRufodt ® s st A wm ghme

1.291.7 m/s / 291.7 HI/ A
2.316.52 m/s / 316.52 HI/A
3.343.4 m/s / 343.4 HI/A

4. 158.26 m/s / 158.26 HI/™A

Correct Answer :-
e 291.7 m/s/291.7 HA&A

26) Which of the following statement is TRUE about Zn? / Zn ¥ IR & fefafad A 9 919 91 9ada

T 82

1. Zn is more reactive than Al / Zn, Al T 3ifep &rﬁ-mmﬂ?r@m%l
2. Znis less reactive than Al / Zn, Al dHH aﬁrmmﬂasﬁm %’I

3. Znis less reactive than Fe / Zn, Fe A HH Hﬁ-l%ﬁﬂﬂ@ﬂ%l



4. Znis less reactive than Ag / Zn, Ag I & &r&mmﬂa‘eﬁm %I

Correct Answer :-

e Znis less reactive than Al / Zn, Al q HH Giﬁ-lmmﬂﬂﬁﬁﬂ'[ %I

27) Which of the following is NOT true about Bohr’s theory of atoms? / W’Q’[Gﬁ a'?a.']?-ﬁl?x'l_d cg

IR A H I o a1 9 T8 22

1. Gave an account of the spectrum of singly ionized helium. / Th YT 3T sifed & @?@T{ DT HIRUT
I

2. ‘Fine spectrum’ of hydrogen was given. / Elsg Sl DI ‘CI'P\"W @Tﬁ}f’ foar mar

3. Pictorial concept of electrons jumping from one orbit to another is correct. / sﬁfﬁj’:ﬁ &1 TP Hel I §F|“\§|
BT H B DI Fomy e |

4. Predicted the energy states of more complicated atoms. / IR Wﬁﬁmx’rﬁ P Sl TR BT
qaigA™ |

Correct Answer :-

» Gave an account of the spectrum of singly ionized helium. / Th T 3T gifed & @TR}I D PRUT
S|

28) Which of the following processes is NOT spontaneous? / ﬁl’H ﬁ @' ?ﬁ'—r '\‘:ﬂ ﬁ‘TQT dd: ?T\'f 7‘|€f
&

1. Expansion of gas into vacuum. / fafa & 19 &1 R
2. Evaporation of alcohol. / W DT dT™ |
3. Passage of gas from low pressure to high pressure. / T &1 Y g9 ¥ 3= g9 & |

4. Dissolution of salt in water. / STd § AUl &7 fIaT |

Correct Answer :-

» Passage of gas from low pressure to high pressure. /G &1 A9 g9 @ 3= g9 § THA|

29) Which element has maximum number of protons? / fore 9 ® UieH &t T@=IT Srfteay @'\"ﬁ
G5

1. Na
2. K
3.F

4.S

Correct Answer :-

e K



30) Beryllium (Be) forms compounds which are largely covalent because ./ afferaw

(Be) T T S4TAT & Sl BTW1 B¢ dP JgH oS ¢ P |

1. its coordination number is restricted to 4 / 31%"[ 9T =T 4 P HifHa %I

2. electro negativity of Be is moderately high / Be G| f&guq BUTHD AT HAT 3= %I
3. low ionization enthalpy of Be / Be P! = 3 ardiy arfid
4. high ionization enthalpy and small size of Be / Be DI I T A T 3R BleT MHR 6 d %’I

Correct Answer :-

« high ionization enthalpy and small size of Be / Be D I M AT YTRar 3R BIe GWEQHT %I

31) Which of the following quantities of substance contains the largest number of atoms? / frafafea

# A verdf ¥ forg ufvwmor & wad aifire wwaTups @ T fafed rft
1. 0.5 mole of sulphur dioxide / WB’]—{&ITWE@ * 0.5 UTHS{T]

2. 16gofoxygen/3'ﬁ3|¥ﬂ7rl:[$[ 16 UTH

3. 18 ml of water / 571 T 18 firefieiier

4, 1L of neon at STP/WWﬁHﬁW 1 ¢lleX

Correct Answer :-
« 18 ml of water / 5Td 7T 18 fHelicex

32) Sodium carbonate is not used by which industry? / TIfsgH Hraiae o1 yar fag e & q’iﬂ
o sirar?

1. Paper / IV

2. Soap / |Igd
3. Baking/aﬁv_"{

4. Glass /ﬁa

Correct Answer :-

. Baking/a%"'f

33) Why is the mobility of H' ion in ice greater as compared to its mobility in liquid water? / I6 o

1t 3maE Ft nfaiiear, ava urt § Iu@ nfaxitaar @ g | ofte =i 82

1. In ice the H' ions get hydrogen bonded to H,O molecules easily and so its mobility increases. / THA H

3T H,0 SU[37 & 1Y ST I GIEeroi 3Mee §1 Ad g MR 3! Maiierdr §¢ Sl 7

2. In liquid water H' ions get hydrated by the surrounding water molecules. / IS T H H 3 Ta STy

& U & U3 GRT SIiiferd g S & |



3. H" ions are trapped between water molecules in ice by ionic bonds. / H* T8, ST STEY GRT I o
gt & 3fupett & ofe B o ]

4. H" ions form dative bonds with the surrounding water molecules. / H' 3{Ta, 3TUTH & U & 3'@3‘?[
o 1Y STl 36y S 5 |

Correct Answer :-

« In liquid water H ions get hydrated by the surrounding water molecules. / TR T H H3Ta STy
F Ut & 3HU[3f gRT STerRAfSTd 8t o § 1

34) Rutherford selected a gold foil in his experiment as it is ./ TETHIS 7 3T TR &
fore ue vty &1 9u= fopaT U1 Fife a8 grar gl

1. lustrous / _ggqﬁﬂ'q
2. malleable / ST

3. a conductor / Uh Tlcdh
4. sonorous / @T-®

Correct Answer :-

« malleable / 3TATdIL

35) A mixture of iodine and chalk powder can be easily separated by ./ TS
T4 9P UTSSY & YUl Bl RT TRl | JuFpd fHar o1 It gl

1. filtration / FrEde

2. evaporation / qrdtyaH

3. sublimation / E‘ié'ql?l:f

4, distillation / ATHdA

Correct Answer :-

e sublimation / Tw‘_?fh'l?ﬂ

36) The energy of an electron in the IIT' and II"9 Bohr’s orbit of hydrogen atom are -2.41 x 10719
Jand -5.42x 107193, respectively. What is the wavelength of the emitted radiation when the
electron jumps from the III' to II"Y orbit? / BIEGIS URHIY & IR TF GO IR H&TH Th

AT B Sl HURM: -2.41 x 10719 T[d TH -5.42 x 1019 5[d Bl B | 579 SAGCTT FGHR I1I Hed
Y II F&T o AT § o It faferwor & aareof am ghftz

1. 6.604 x 10> AY
2.6.60 x 1017 A0

3.7.2x 107 A°



4,7.0x 10° AY

Correct Answer :-

e 6.604x 103 A°

37) PVC polymer can be prepared by which of the monomer? /m Wm Ul gIRT GRS
fopan =1 T 82

1. CH,=CHCN

2. CH,=CHClI

3. CH,=CH,

4. CH,=CHCgHs
Correct Answer :-

e CH,=CHCl

38) Mame the chemical compound which forms a white precipitate in the following equation? /

I OIS Al & a6 adie A1 BFafei@d I8EoT & U6 i JdeTT &0
SAToT Fdr &

Pb(NOs), + Na;50; —— PbSO, + 2NaNO;

1. Pb(NO3),
2. PbSO,
3. Na,SO,

4. NaNO,

Correct Answer :-

« PbSO,

39) Which of the following alkanes, when reacted with Cl, in the presence of sunlight, will form only

one monochloro derivative? / fFrafafaa & 4 Cap i) W, '\‘L&WI'QT #! SufRufd & o9 Cl, & 91y
wfaferar war €, 9 U U gead Mg R) @1 fAator s

1. 2,3-Dimethylbutane / 2,3—3@&[?-"3?“1@1%?
2. 2,2,3,3-Tetramethylbutane / 2,2,3,3-C¢TTHUS A
3. 2,2-Dimethylbutane / 2,2-STaHUTEACH
4. 2,3-Dimethylpentane / 2,3—@%&[@%:[



Correct Answer :-

e 2,2,3,3-Tetramethylbutane / 2,2,3,3-CCTHATSAKCA

40) Which of the following are heterogeneous in nature? / FrafafEa # ¥ frust upfa faww 32
(i) Wood, (i) Aerated drinks, (iii) Soil, (iv) Alloys / (i) TPS!, (i) ATFrd U, (iii) FaT, (iv) Frgemg
1. (i) and (iii) / (i) Td (i)

2. (ii) and (iii) / (ii) €9 (iii)

3. (i) and (iv) / (i) T (iv)

4. (ii) and (iv) / (ii) ¥d (iv)

Correct Answer :-

e (i) and (iii) / (i) 99 (iii)

41) Which one of the following metals does not react with cold as well as hot water? / frafafaa 7

o= ot urg T S & Jry-ary Waa 5 & ary o srirfear a8 w32
1. Na
2. K
3.Ca

4, Cu

Correct Answer :-

42) A metal compound MO when heated with a colourless gas X, forms the metal M and another
substance X,0. Metal does not react with dilute acid except dilute nitric acid. What is the metal M? / Th

g FHT6 Mo Y 5E TR 714 x, & A1y T f3pan <iran 8 a1 a8 urg m SR T o= uard x,0
T 31 9Tg, 9 AT3I® 3ra & Srarar a 3 & 1Y rfiferar A8 St urg m T 82

1. Copper (Cu) / BIUR(Cu)

2. Gold (Au) / TS (Au)

3. Sodium(Na) / FIfSTH(Na)
4. Zinc (zn) / TSI (zn)
Correct Answer :-

e Copper (Cu) /WVW(CU)



Which one of the following elements does not show the property of catenation? / fadgas99 ddd,

YT BT UIYH g fe@Ta?
1. Silicon / f&ferepd

2. Sulphur / b

3. Carbon / BT&

4. Calcium / hTeREH

Correct Answer :-

e Calcium /m

44) Given that the solubility of ferric hydroxide is \2x, what would be its solubility product? / gfe

e mar B fr ®fve grssiqurss @ fadaar, vax 8, 9 sue! facaar e Fn gifi?
1. 108 x3

2. 108 x*

3. 4x*

4.4x3

Correct Answer :-

45) Anti-oxidants are often added to fat containing food to prevent ./ AT Yo #

q 919 & g srer 379 ufvsifadier® firarar smar 31
1. rancidity/ﬁ%"iﬁl?ﬂ
2. rusting / ST @I
3. decomposition / UYUCH

4, reduction / JHTTIA

Correct Answer :-

. rancidity/ﬁﬁ"m(‘l

46) Choose the compound with the highest molecular mass from the following: / faad dg e

I, e aa siftre snfoas goawT §:

1. HySO,
2. NHj

3. KCIO,



4, NaOH

Correct Answer :-

L4 KCIO3

47) Which of the following statement is TRUE about ethers? / 's‘uﬁ? IR A B9 9T 959 H'Eﬂ %?
1. Ethers form oxonium salts. /_st‘?ﬂ, me%l

2. Ethers oxidise ferrous to ferric ion. /émﬁp—w P BRE M o &WW %I

3. Ethers are not used as solvents. /SF?RW TN eI &t dae :rEﬁﬁ?QT SITdT %I

4. C-O bonds in ether are linear. /g?Rf[ c-0 &na%r‘\f@ﬂtreﬁ?r %I

Correct Answer :-

e Ethers form oxonium salts. /g"qq, sﬁa@ﬁuﬁwm%l

48) In the formation of a compound XY, X gives 3 electrons to Y atoms. What is the nature of the bond in

XY3? / XY; T® & Fmfor &, x, v wrAmvgsit &) 3 sadei= a1 81 xv; § f5d ybR &7 ey 32
1. lonic bond / 3TTHT {TEY
2. Covalent bond /m\?ﬁa{ﬁ%{

3. Hydrogen bond / Slggl\_ﬂ Y

4. Co-ordination bond / JH-aT 3¢

Correct Answer :-

« lonic bond / 3TTHT 3TEeY

49) Which among the following is a temporary effect? / frrafafEa # T sreurdt yuTa #1941 82
1. Hyperconjugation effect / \?'fi%l\‘:l'ﬂ’m UHTd

2. Resonance effect / $ATGI THTd

3. Electromeric effect / Sﬁm YHId

4, Inductive effect / ATTHATHD YHIT

Correct Answer :-

» Electromeric effect / Ea?ﬁjﬂﬂ UHId

50) When alcohols react with acidified potassium permanganate, carboxylic acids are formed. This

reaction is an example of . /WWT?L IR Uy WATE & 91y
Sifuferar war 8, 9t Fratfeafere s a=ar 81 g8 sriifran T TP IGTEXVT 3|




1. addition / TN
2. substitution / Uf=ITTT

3. reduction / ¢TI U
4. oxidation / TRITEHRT

Correct Answer :-

« oxidation / HTRITH T

Topic:- Maths

1) 2
% " cosSx dx =

1.0
2.1

3.5

4, None of the above / sﬂﬁ I ﬁ's‘ 7‘|€[

Correct Answer :-

2) A metallic solid cone is melted and recast into the form of a cylinder of the same base as that of the
cone. If the height of the cylinder is 4cm, then the height of the cone was____ ./ Udh 3 urfa® '\’@
D! FUTareY TP 9 & U § oTaT1 TT, T YR, P & SATUR & T & 31971 T[T afe
I Bt TS 4 QY B, 9 WP B FAS il

1. 16cm / 16 IH
2. 4cm/4@’ﬂ°f
3. 9cm / 9 IH

4. 12cm / 12 9H

Correct Answer :-

e 12cm/ 12 GHI

3) e ) = .
Argument of the complex number |i—:is .| FTEAA e "Jli_: T HITTH gl
b3
4

1.



Wl H

2.
T
2
3.
T
6
4.

Correct Answer :-

L

4) A committee of 12 is to be formed from 9 women and 8 men. Then number of ways in which atleast

5 women are there is /9tr%maﬁaﬁ?sgw’rﬁu?ﬁﬁaﬁw;r&rﬁraﬂ1€m=ﬁ%lm
Y oA sAfgasi A I s a8l I 59 aftfa &1 fFmior foear s aear g1

1. 5054
2. 1008
3. 2702

4. 6062

Correct Answer :-

e 6062

5) What is the measure of the base angle of an isosceles triangle, if its vertical angle is 70°? / U

FufEaTg Y & MU HIVT BT 71U FIT §, TS FABT SHeafer HIvr70° 32
1. 110°

2. 55"

3. 90"

4.70°

Correct Answer :-

e 559

6)

If A is a matrix of order 3, where |A|=-2:ﬂ1m |2AA'1 |= i ﬂﬁkﬂﬁTEﬂWﬁw%ﬂﬁ
|A|=-2aT| 2440 |=___

1.1



2.2

4.8

Correct Answer :-

7)
o and f§ are the zeros of the polvnomial f(x)=x2 - 8x+ 16 thenew + § = Jatdg, agIg f(x) =

x1-8x+16F YA, Ma+fF =

3aff
4.

Correct Answer :-

1
o

8)
If x=2 and x = - 6 are the roots of the equation x?+ 2mx +n =0, thenm +n=____ / A x=2Tdx
=i 6=WUTX3—EHD:—H:D$HFE En'm—-n=_g|

1.2

2.-10

3.8

4.4

Correct Answer :-
e -10

9) The difference of 20p2-15q2-21 and -12 +11 p2 -6q2is ./ 20p2- 15q2-21 Td -12
+11 p2? - 6q2 FT 3R gl

1. 9p® -9¢>"-9



2.9p2 +9 g%+ 9
3.9p2 +9¢2-12
4,-9p%2 +9q2-12
Correct Answer :-

. 9p?-9¢>-9

10) 1fthe coefficient of 2037 4Mterms in the expansion of (1+x )" arein arithmetic progression, thenn -
/A& (1+ x)F & TEROT # i, ol Ud I Ul & 0Tieh, FHII RGO A &, din =

1.5
2.6
3.7

4.8

Correct Answer :-

o 7

) If [ —— dx =k sin}(2%). then the value of kis /AT [ —— dx =k sin'!( 22 ) &, ATk FTHAT

W1-g% V14~

&l

11

1.1

2. log2

B |

4. log 2

Correct Answer :-

12) If the first term, common difference and the last term of an arithmetic progression are 4,5
and 124 respectively, then the sum of all the terms of this arithmetic progression is i ﬂﬁ‘
TP HIAR RGN BT YYH UG, AT 3R TG 3ifdH Ug HHT: 4, 5 T4 124 &, 9 59 JHiGR 3R
& gt ugl BT A 2l

1. 1520



2. 1754

3. 1600

4. 1480

Correct Answer :-

4, 16

2k and ¢ = 2i + j are such thata + Ab is perpendicular to ¢. then
b=—i—j+2kUd =2+ jSUUBR & & d + b, ¢ W olddad

4,2

Correct Answer :-



2. 2¢e
3.-1

4.1

Correct Answer :-

16)
Ifsin?8 — 2 cos@ +:1} = 0 then the general solution is | OfE sin%8 — 2 cos@ + :1} =08 dr
ST A el &l

- |

=

H
Wl

i
Tlﬂ.'_3

+
| H

2nm

4.

Correct Answer :-

2nm+

wlH

17) 1 5B = 2 x6P,_y,thenr = | A 5B = 2 x6P,_y, AT =

1.4
2.2
3.3

4.5

Correct Answer :-

18) 1f the sum of first 'n' terms of an arithmetic progression is 3n2 + n, then its second term

is_./tr?wmmanﬂw$ugﬁ‘n’uﬁmuﬁﬂsnhné,a‘rmmm
|



1. 12
2. 10
3. 14
4. 18

Correct Answer :-

« 10

19)
If @ is a unit vector such that @ x i=j. then @ .1 is ./ afe a Ueh Seh1s A U UhN o feha x i =

g dra.i &l
1.1
2.-1

3.0

4, None of the above /E:Fﬁ I aﬁ‘é :@1

Correct Answer :-

e 0

20)
Square root of x% — 1 +i(2x) is Joxt—14+i(2x) a:ra?‘mg»r Bl

+(x —i)
+(x +1i)
+(x% +1i)

+(x? —1)
4,

Correct Answer :-

+{x +i)

21)

For what value of k'in the following svstem of equations has infinitely many solutions?

2x -3y =5 md kx — 12y =20/ TG d THRIOT 90T 7 ik & Tl ATl o TelT, Heldd: 5 §ol
B9 2x -3y =5 Ud kx- 12y =20



1.6
2.4
3.5

4.8

Correct Answer :-

. 8
22) _aex—b ., i ; i : 2 _ex—b
Iff (x) =" limgoo f (%) =2, limy o £(x) = 1. then the value of (-2} is / A f(x)= =
lim, g f(x) =2, im0 f(x) =1 8. 0T £{-2) &I A G
1. 1
2. 2
4
3, #
3
2
4.

Correct Answer :-

[

23) The temperature of a city in north India was 16 C at noon. It was dropped by 19°C at night. What

was the temperature (in °C) at night? / 3T W%WWWW'&IW 16%C Ut A H
399 sifafvaa 19 f&3h Afcaa oY RrTae smft | w1t & aroam= foeamn &3 Afcaas are

1.-3°C
2.3°C
3.-35C
4.-19°C

Correct Answer :-

. 3°C
24) If the limesx_—_1 = }-;2 = 3:3 d xa—;i = % = _;5 are perpendicular, then A = e @
Erhen e v S sl cn sl o Bl e s
—E_EA_EEE—:M_l_—E B.ala=
10
7



10
4.

Correct Answer :-

P24+ it i+ e (20 + 1) terms is Fi2+it+i+r . ...(Zn+1) US

26)
When the time in a wall clock is 10:15 AM, the angle between the minute hand and the hour

hand is /IR TF AR F AT F 10F5 15 Aae g arffme e
g G231 F AL HI0T gl

iRy
s 8

e e,

1.25°
2.35°

3. 150°



4.20°

Correct Answer :-

. 150°

27) at+b bB+ec c+a a b ¢
flb+c c+a a+b|=k|b ¢ a| .thenk= !
c+a a+b b+c c a b
at+b b+ec c+a a b
b+c c+a a+blFklh ¢ alf ddk =
c+a a+b b+c c a &
1.2
2.-2
3.1
4, -1

Correct Answer :-

e 2

28) j%[i + (x+ 2)loglx + 2)] dx =

exlog{x+2)+C

log (x+2)
4.

Correct Answer :-
etlog{x+2)+C



Distance of the point (3, —4, 5) from the plane 2x + 5y — 62 = 16 measured parallel to the line

-5 22 -5 -1 1 :
oo F BN e @ 2= 2 =2 yumiay wEae 2x + 5y —
2  § -2 2 1 -2

6z =167 g3, -4, 5) Y A 3Tt

1. 9 units / 9%@?
2. 7 units / 73&7@7
3. 6 units / 6 SHTZAT
4. 10 units / 10 31T

Correct Answer :-

. 9units/93$|3?3ﬁ’

30)
If ( — Ab) . [(b — 26) X(€ + 3@)] =0, then the value of 1is___/ ATE (@ — Ab) . [(b — 26) x(C+ 3a)] =

08 AT FTAE g
1.0

2.1

1
3, ¥

.
4, ¢

Correct Answer :-

1
-]

31)
ABC is aright triangle right angled at B. If »C = 60" and AC = 12cm, then side BC = JABC. BOT

HHBIOT d=AT=1 alell Ueh HHHIT T30S §1 TS £C =600 Td AC =12 T, dl AT BC =
1. dcm /4 A
2. 6cm / 6 HHT

3v/3cm /33 AT
3.

&v3cm / 673 THT
4,

Correct Answer :-

. 6cm/6@7ﬂ



32) o g A ] .
The middle term in the expansion of (5 + 9.’3) is 3 (5 + 9.’:) o JEIOT H HEIH Ug

&l
1. 567a%p*
2. 5670 a*b*
3.5670 b’
4. 5670
Correct Answer :-

. 5670 a*b?

33) Ifa=1i+2j+3k E=—1—2j—32=5=35—j a_nd5—}.515perpmdiculartoaﬂlmﬂlevaluec:f}‘.
is JAfEd=1+2j+3k . b=-1+2j+k.C=3i+j Uda+\b, U eidad &. AT L FTHA

3.3

4,2

Correct Answer :-

34) sin{2sin~1{0.8)} =

1. 0.96
2.0.64
3.0.48

4. 0.81

Correct Answer :-

« 0.96

35) There are n arithmetic means between 3 and 17. The ratio of the last mean to the first mean is

3:1, thenn = ./ 3Td 17 S A n GHGR 91¢4 ¢ | SifaT A1 &7 Uyq 7180 & 1Y
U 3:18,ddn =

1.5



2.8
3.7

4.6

Correct Answer :-

36)
In the adjoining figure, *0” is the centre of a circle, ABisa chordand CB is the tangent to the circle at B.

If £AOB =110, then ZABC = ./ Ferdel A H, “0” U e I b, ABSIATUI CB, B W
ged o1 U TUY (@I AfG 2LA0B =110, @Y LABC =

A

e
1.55
2.35°
3.25
4, 40°

Correct Answer :-

37) Which of the following is an example for a trinomial algebraic expression? / frafafead 9 PIH-
a1 g fAftrdia st ug o1t Serervr a2

1. 3p* 3¢ +3r°- 3
2. 25p2 +3pq +7r - 5/9
3. 12p +3pq /7pr

4. 5p t3pq +7r

Correct Answer :-

e 5p+3pq+Tr

38)



g 1 .
The value of 93 .99, 927
AFG_ %l
1.9
2.81
3.3
o 13

Correct Answer :-

1
1 /93 .9

= il
9.92?

39)

If p and q are the zeros of the polvnomial f(x) =2x? + 5x +2. Find the value of §+ g. /afgpudq. dgda

fix) =2x2 + 5x *zmaﬁﬁ=ﬁ§+gmﬂmw|

1. 1873

2. 12/5

3. 17/4

4. 15/2

Correct Answer :-

Class interval: 0-10

Frequency: 30

10-20

20-30

30-40 40-50

45 15 70

The upper limit of the modal class for the above distribution is

TN I - 0-10

dRERAr: 30

IURIFd TaaeoT & forw, Afseradr o sad Sar &l

1. 50

2.30

3. 40

4.10

10 -20

20- 30

45 15

30-40 40 -50

70



Correct Answer :-

e 40

41)

Ifad =2i+4j—k and E=3?—2}+xizareperpendicular=&1mx= Jafdad=2i+4j—k
e 7y

Ud b=3{—2j+xkcig®d &. dlx =

1.2

2. 72

3.3

4.4

Correct Answer :-

. 2

42) After how many places of decimal, the decimal expansion of % will terminate? / ERIFET o fehl=l
FTe WG, —— T GRITHE TR WATCd B STeam

1.4

2.6

3.5

4.7

Correct Answer :-

o ()3



Correct Answer :-

17

44)
In the adjoining fisure, AB, BC and AC touch the circleat P, B and Q, respectively. If £A =60" and £B
=807, then the angles of triangle PQR are ./ Helad "IA#H AB. BC Ud AC, &H- P, Q
Td R W U Jod HITIA FI §1 TG LA =60 Td 2B =80°%, o HeI=f PQR & HIT

&l

R
1.2P=40", 2Q =80, LR =60
2.4P=70,2Q =50, 2ZR =60
3.4P=70,2Q=70", ZR =40
4.,P=80,2Q=70, 2R =30
Correct Answer :-

« 2P=70,2Q=50, 2R =60

45) Number of arrangements of the word DELHI in which D precedes E is . / Ve “DELHI”

P IAGRAIA P adF g, o9d p, E A ugd 3mar 81
1.24
2.25
3.26

4,27

Correct Answer :-

46) Find the negative value of 'x', if the distance between the points (1, -1) and (x, 5) is 10. / “x” DI

BUTHP T J1d B3, afe fagai (1, -1 W (x, 5) F g H gt 1031

1.-9



47) Some boys planned to go to a restaurant. The total budget for food was Rs. 500. But 6 boys could
not go and thus the cost of food for each boy increased by Rs.75. How many boys went to the

restaurant? / O ASHI A TP AT ST DI IS g1 | HISH & € Hot To1e 500 T AT |
AP 6 ATH T8I ST TP 3R 59 UPR, TP TSP & [o¢ HISH P ANTd 75 U ¢ T |
Pd fpa dgd vaxi Y2

1. 10
2.5
3.7

4.4

Correct Answer :-

. 4

48) (12" cannot end with the digit  for anyv natural number ‘n”_ Wﬂﬂ?ﬁﬂim “n” o felt,
(12, 3 ___ & TP THATY =61 61 Febell|

1.2

2.4

3.8

4.0

Correct Answer :-

49) In a class of 125 students, 70 passed in Mathematics, 55 in Statistics and 30 in both. The
probability that a student selected at random from the class, has passed in only one subject

is ./ 125 BTA Bt TH H&T |, T | 70, AifTPt & 557d g1 & 30 IHvi gUI e A A
uﬁ%gnﬁﬁwmwﬁamﬁwwﬁmm%mwﬁwﬁﬁﬁﬁsﬁﬁmﬁw
|

w o

e



4,

Correct Answer :-

50) The perpendicular distance of (1,2,3) from XY plane is XY da ™ (1,2,3) P @9 §'ﬁ
gl

1.1
2.3
4. V5

Correct Answer :-



